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GENERAL INSTRUCTION TO THE EXAMINEES:

1. TRl AduH 19 YT U UX ATEB JAfarid: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 ge e erfvard 7|

All the questions are compulasory.
3. Ud U BT IR a1 T3 IR RIS H & ford |
Write the answer to each question in the given answer book only.
4. T3 el # T<IR® WUS & I F9 & IR Y AT & ford |
For questions having more than one part the answers to those parts are to be written
together in continuity.

5. U UF & fa=) OR 3T wumwel # Bl yeR @1 Fe/ s/ RN g9 W =
AT & U P Tl A |

If there is any error/difference/contradiction in Hindi & English version of the question
paper, the question of the Hindi version should be treated valid.

(@vs &)
Sgfamedl T
g3—-01 =T 0ol & SR &1 WEl fddeq o #R SR gRaeT A fofay —

() 9T H FAH STRErRT ® — 1
(31) WIe @1 a8q (@) STt &1 g8d

(@)aifeRISTT @1 g8 (@) 3T 3Rt BT g

The Phloem in plants are responsible for —

(A) Transport of food (B) transport of water

(C carrying oxygen (D) carrying amino acids

(i) WI=T H SMHARRI Ud T T 1T § Sl Hefdd 8 — 1
(1) zad= (@) So

() o7 (®) uRas

The stomach in humanbeing are a part of a system for —

(A) respiration (B) excretion

(C) nutrition (D transportation
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@ewus (i) Fr=TfeiRad § | I urey g § — 1
(@) Rrerfem ORGEN
(&) sgfer (@) emrRifeas
Which of the following is a plant hormone ?
(A) Gibberellins (B) Oestrogen
(C) Insulin (D) Thyroxin
(iv) DIRGT fAWTSTE &I DT M URT &Rl © 1
(1) Tfoafrd st (@) TReERT
(@) iffera (@) HTSCIBIEAT
Which hormone is activated the cell division
(A) Abscisic acid (B Testosterone
(C) Auxins (D) Cytokinin
(v) ST o & forg a8 fovg o9 R smufaa faor faem g el et Sl 2, 39 fag
BT P B — 1
31) B g @) gR®
() BT b= (@) Tl Bs
For a convex lens, the point at which the incident ray passes straight without bending is known us
(A) point of focus (B) Aperture
(C) Optical center (D) Center of curvature

(vi) BT & TRTACH DI ST H Maad DT (I) TA WG IvT (1) H T AH

HGIRS 1
@i=r @i>r
@i<r @IL#*T

The correct relation between the incidence angle (i) and the reflection angle (7°), in the
phenomenon of the reflection of light.

AL =T B)i>T1

Qir D)l #71

(vii)) foaR @ AT &1 I ® 1
@1) FregrteR @) dree Hrex

(%) spirex () dreereR

instrument of the measuring the potential difference is -

(A Galvanometer (B) Volt meter

(C) Ammeter (D) Voltameter

(viii) TP aTeTd IR & IR &1 A9 ¥R &Rar & — 1
(31) JHBT TS W aw—cﬁajwaaﬂz?%&%aww

(|) S9® AT W) @) Sudaa

Resistance of a conducting wire depends on -

(Aon Its length (B) on its area of cross section

(C)on its temperature (D) all of these
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(ix) fagga oIt @1 Fifye It # wUARd &= &1 IR6 I Fed & — 1
(a1) Sifr= (@) Hrex

(d) dlee #{ex (]) eFfeR

The device which converts the electrical energy into mechanical energy known as -

(A) Generator (B) Motor

(C) Voltmeter (D) Ammeter

(X) Fe,03+2Al — 5 A1,0;+2Fe

SR <1 TN srfAfpar 59 yeR & g — 1
(a1) TS iAo (@) fefavemy= sifdfhar
() faarsT srffehan (@) faemys siffm

Fe,0s+2Al —» A 1,03+ 2Fe

The above reaction is an example of a -

(A) Combination reaction (B) Double displacement reaction

(C) Decomposition reaction (D) displacement reaction

(xi) 3TTT BT SUAR B & forg o # & fpa Nwfey &1 o gar § 2 1
(1) gEmnfed (frfas) @) reiRie (GrerEn)

@) Tefie @) TRifted (UfoRE)

Which one of the following types of medicines is used to treating in digestion?

(A) Antibiotic (B) Analgesic

(C) Antacid (D) Antiseptic

(xii) @Ter uered @& feadi R i o g9 e &1 o9 8T § |®aife — 1
@1) fe=1 @1 arver RNiw wewm & @) feT @1 erer S &1 Todid IRF ©

(@) o1 9 ot R afdie affpareier 8 () o @1 e Ric ow aififbareer
Food cans are coated with Tin and not with zinc because -

(A) zinc is more expensive than tin. (B) zinc has a higher melting point than tin.
(C) zinc is more reactive than tin. (D) zinc is less reactive than tin.

U : 02 Rad wIAl 31 gl Hifor—

(i) TR H g4I T SA9oT BIdT 2 | 1
The secretion of ............ hormone in males.

(ii) 3Maf¥re IUTETE] BT IRR | 96 BT D UHH Bl o BEd ¢ | 1

Waste byproducts are removed from the body there processes is called as.......cccceverereenene.

(iif) NS IR S | 1 aTetl oo H GReTT U Hl B | 1

ozone layer protects against the .......ccccccceuvennne from the sun.

(iv) DI TG USIORIH o U9 B IS8T B | 1
The example of .....cccccevveeenns fuel are coal and petroleum.

(v) TR QUT & ¢[d G Iehcll dvs @ dId DI G DI M T BT oo PEd B | 1

Half the distance between the pole and the center of curvature of the spherical mirror is
called asthe ..vivece e,
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(vi) faega wifad &1 A9@ ... = 1

The unit of Electric poweris .................

U 9. 03 TGRS Ue (Ul ST IR (P ¥k AT U Ufaa # i)

(i) aferd 9o &1 rayer g arT § BT 7 1

In which part of the digested food is absorbed?

(ii) FLHE 0T fhA BN @1 HHI | =T 7 7 1

Diabetes is caused by the deficiency of which hormone?

(i) YBIoReR # fha ST BT ST fhar e | 1

Which chemical is used in refrigerator?

(iv) "3mar <d1 faeg I qReeR” fhay Sefa 7 ? 1
“Amrita Devi Vishnoi National Award” is related to?

(v) ST 9R 99 &t o1 9 ke | 1

Write the name of Dam built on the river Ganga

(vi) IfS I TS B ITcd aR BT IR RQ B T S I7a7d aR 9 2 RQ IR e
B B ol fhasl T8 &1 IR oA 89T 2 1
If resistance of a conductor wire of length I is R QQ Whatwill be the length of same conducting
wire to obtain 2 R Q resistance ?

(vii) BT FHIHIT &5 Q@Y U gAY Bl KT Ui 8l &l § 7 1

Why two magnetic field lines don’t intersect each other?

(vii) fodT aRuer # a_T garg & a1 &1 den 6y feen # &, o+ @ forg &9 g faga

SUBROT BT SUANT BRd & 7 1
Which electrical device do we use to know whether current is flowing in a circuit or not and in which
direction?

(ix) POR STl DI g B @ folv fod Aifea™ A &1 SyanT o simar g 2 1

Which sodium compound is used for softening hard water?

(x) AT G BT pH A 6 BT 2 | $UY T8I 999 M U BT pH A URafid & SIrar & [@ai? 1

The pH value of fresh milk is 6. How do you think the pH will change as it turns into curd ? Explain your

answer.

(xi) STAFIT Tt fIegd &1 @t i &1 B wIafd 991 SIf 8 8 ? 1
Why is distilled water not a conductor of electricity while rain water does?

(xi)) CaOCl, 1T BT Taferd I a1 & ? 1

What is the common name of compound CaOCl,

(Us 9)
AITRTHAD U 9. 04 I 16 D SR fARIY | (Treg W 50 773

4. Ao & UTad H AR @ 7 e § ? 2

What is the role of saliva in digestion of food?
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5. UHTAY UG YT TAeT0T Pl HHSSY ? 2
Explain the traits of dominant and recessive ?

6. THADHR Ud fgHdR UHU H FeT0] YRy UTd folRay | 2
Write the phenotypic ratio of monohybrid and dihybrid.

7.9 f=axoi 5 ded & ? 2

What is called biodegradable ?

8. UBIE & AUaa+ & 1w faRkay | 2

Write the laws of refraction of light.

9.9/ 2Q,3Q3d6 QT I URIIG! &I Ured ¥ H FAITd fhar Srar & a1 |aieH & o
AR T ITOMET BIFTY | 2

If three resistors 2 QQ, 3 Q & 6 Q) are connected in parallel, then calculate the equivalent resistance
of this combination.

10. fa=ga uRuer & forg o &t fom foalae | gaa forg emawas g3 W1 falag | 2

Write the Ohm's law for an electric circuit. Also write the necessary formula for it.

11. gRTEATE! ATAD BS DI BT &3 H THdq - IR I R N dlel el B I Bl e
& ol TwRIffiTT & a1 B1er &1 7 foray g iaeass o 9918 | 2

Write down the Fleming's left hand rule and draw the necessary diagram to explain the direction of force
acting on it when a current-carrying rod is placed vertically in a magnetic field.

12. AIg @1 IGRAT Bl §H UT &I B © ? 2

Why do we paint iron objects?

13. AT IS FHHIVT T © 7 IS FHIBIN DI AR HIAT AT A[TLIH 87 2

What is a balanced chemical equation? Why is it necessary to balance a chemical equation?

14, IS NRABT BT Te-id Sod T BT & 2 2
Why do ionic compounds have high melting points?
15. dfd & faega smuge-l uRsHRY &1 Arifdhd = a8 | 2
Draw labeled diagram of electrolytic refining of copper.
16. TANT §RT T3Sy b o7 ST & FaTeld 8ld & 7 3Maedd (oF W1 918 | 2
Explain by experiments that metals are good conductors of heat. also draw the required diagram.
R}

el I Y-S 17 ¥ 20 B SR fARay (e A 100 IT)
17. IR QAT SR Y9 H RIT 3R & | 3
what is the difference between aerobic and anaerobic respiration

31=IdT OR
TAR IRR H EEFANST & S &7 G941 IS 2 3

What will be the consequences of deficiency of hemoglobin in our body?
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18. FHOII dT AH®Y 3 fbg ded & ? o 99180 | 3
Explain the terms analogous and homologous organs with diagram.

372797 OR
Strared fhe ded € ? foF 918y | 3

Explain fossils with diagram.

19. FEHI &F 3T T FAS ¢ | FHDII g1 @i dl faewarg forfRay | f) gmrars
FATDBR RISl §RT IU~ DI &7 DI G&RIT B4 & oIy nmaedsd = a18Y |

3
What do you understand by magnetic field? Write the characteristics of magnetic field lines of force.
Draw the necessary diagram to show the magnetic field produced by a current carrying circular coil.
OR
fae[a Hiex {59 Mg IR BRI &Rl © 7 3Mawasd (o 91 SRV Aqesy | fagd deR
® T START §a8Y | 3

whatis the working principle of a electric motor ? Explain the working of it drawing the necessary diagram.
write down two uses of electric motor.

20. 57T & d9gd e B A fafead | s smaeds I™Aafe Affhar <oy v Amifdd
o qrsy | 3

Write the method of electrolysis of water. Give its essential chemical reaction and draw labeled diagram.

OR
T4 @S B Bl BT BIUR Aehe & (Ao H AT ST & Al [dedd &1 T R 98l Sl & 7
MMIeTS ford 91 §Y WY | 3

Why does the colour of copper solution change when an iron nail is dipped in a solution of copper sulphate?
Explain by required diagrams.

(@vs J)
e TeH-U9 21 9 22 ® SN foRaT (IS T 250 9IR)

21. (i) R=g f5d dea € ?
(i) AT PIRET (RRE) & S 9d8Y |
(iii) T3BT BIRIRT BT AHIfPT frF I9 15T | 4
(i) What are synapses called?
(ii) What is functions of a nerve cell (neuron).
(iii) Draw a labeled diagram of a neuron cell.

311dT OR
(i) AR BT PIAT 9T INR &1 RART T FJAT BT R BT © 7
(ii) Ifesd fohamell & &T Sarexvr foIRkay |
(iii) AT ARTSH BT AHifbd ot 918V | 4
(i) Which part of the brain maintains the posture and balance of the body?
(ii) Write two examples of involuntary actions.
(iii) Draw a labeled diagram of the human brain.

22. Mifery o9l & forw forg &1 aRuTdl &1 |AsIEY | fel sraddt o &1 ®Ied g3 15 cm B |
el fama &1 o 9 fha g0 W W & 59 ufdfe o 9 10 cm 0 R & | o9 X7

IO e A ST BT | ST o §IRT 9994 dTel Uffew & forv for fom 9918y Siefd
forg @1 2F, I F, @ 9 @1 ST 2| 4

Explain the convention of symbols for spherical lenses. The focal length of a concave lens is 15 cm. At what
distance should an object be placed from the lens so that its image is formed at a distance of 10 cm from the
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@Byus lens. Also find the magnification produced by the lens. Draw a ray diagram for the image formed by a convex
lens when the object is placed between 2F, and F; .

OR
15 cm BB G & T Aadd U B IUANT HRa 4 (HAl {7 &1 e yfafdw a=r=m =med
2| fd% &1 Yo | g BT URIR 97 BT A1MRY | giafdm &1 ypfd 9 MR W fewoft fafay |
9 Rerfar # ufcfam g9 &1 fbRo1 o 99183 | U UV gRT IU= 3MMaeid +1 © | 39T aef 2 ?

4

Using a concave mirror of focal length 15 cm, we want to form an erect image of an object. What should be
the range of distance of the object from the mirror. Write a note on the nature and size of the image. Draw a
ray diagram of the image formation in this situation. The magnification produced by a mirror is +1 . what s it
meaning ?

23. G & AT A BT AMHAT B TR AMRIT: DAl I Fperd! § ? U IaERY & gRI
[HSY 39 T BT SURATT DI S My BT | My o off a9gd | (1424+1) 4
Which gas is usually released when an acid reacts with a metal? Explain with an example how you will test for
the presence of this gas. Draw required diagram.

OR
B3 o1g Ae A T TRSIFAIRS 3l & AT JMAfHAT BT & O gegaree a1 Bl § qefl

S S~ I Sfeldl AFE< Bl g <dl & | org e 'A' Td IO~ B dlell I B AH gl
g0 gof ififran & fore wwgfora IRamafes a¥iaor foalkad | (1+2+1)4
When a metal compound 'A' reacts with dilute hydrochloric acid, effervescence is produced and the gas
produced extinguishes a burning candle. Give the name of the metal compound 'A' and the gas evolved. Write
the balanced chemical equation for the complete reaction.
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